EARAROBEEIERT — 2 N— IBISH —F

201754828 (B) 1H£R1B

mﬁ%b"i L45RI A21 H5R—# (xwlw | mEmml - v ) w8
[A&4£] 1 7% :600,000 ™ ~ 23#&:138,000 W ~ 3#&:72,000 ~ 43#&:54,000™ . 5 3&:36,000 ™
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ssa R :37. -1-1- . — £E—& (£R)
XATL 6 e 1(3_7)9 1-1-1-1 | 39.7 1 (4_717) P
RTREIAY R BT RRAVHIS ZRANT 57— L
=9 : # g | BIURT 1:38.9 7-7-6-6 | 39.4| — 5 507 | £EH—& (&R)
T FHAZR 6.0 ®) wy) |BASEX
R:aAF 0 ML BiTLRIAYIIL EEHTT— L
TR TT YT > 6 ;}fﬂgIE% 1:(329>.3 6-6-5-4 | 40.0| — | 4 | 446 ;Z\Jalalgé (&R)
LTINS BiAV Eb ) | xrms
R . e REHE : -8-7- — Iz (£R)
S 2 BF R o 8% G5 | BT w2 - s | e [ GUEE @
T TIVKry b B:YauFrlT7Yh [ELaMEIIES
XA P— X E— > 4 227%15327\ 1( 739t§a 2-2-2-2 | 41.6| — 2 448 iii ;E(é*}m
I TA—H— BUTFINIIAINRITA 3> #3) RS EH77—L4
N R AEEt -40. 0 . — £H—E (£R)
Eav1E> o4 V| T8 ’ e
LG/ vTe BiT7U—boE— FoE e
. HFEAX : -9-9- — £H—8 (£R)
201l FUTI=> o4 oA 1(74(1):; 11-9-9-8 | 39.7 1 (4_813) sms
R:aA % T4 — Bg4%T)—+F HFAYREy K
1) P : - £B—8 (&R
slgliolEm/ FULR BT o R s b TS |mes
RTFLERT A ITA N Bidpk—ULy UKL TP — L
3 i 4 | SREA 1:41.6 10-9-9-9 | 41.2| — 6 446 | FIHEZ (£R)
955 A XIN—=TI)b 54.0 (6) +3) SISt T
R:2FA4d—I K B4 Y F94 -2 BHR&sH FH77—L4
e N HHRE 142, -11-11- . — 1EBEX (£R)
101718 NZNFF Y — 4 5 =4 1(462)8 9-11-11-11 | 41.1 10 (4_93 2 e
R:HREFY BIUYIRRNI—L4 HTIEANS
N o BEMALA : —5-8— - ZARE (&R
1lgli1| Ve 7E=H H 5 B 1.?5.4 3-5-8-10 | 43.8 8 <4+747) I
BT T D F S T = TN B s RE KA
@ 1 — S —EBlIEf
13—7+— 3,9,(10,11),2,6,4,7,8,5,1
2= = 3,9,(2,10),11,6,4,7,(1,5),8
Jol=5r= 3,9,(2,10),6,4,7,11,(1,5),8
43—F— 3,9,2,6,10,4,7,1,5,11,8
[ N3
BB 3 110 74K 3-4 210M & 3-4 540 & 3-4-6 860M
8 B 3 1004 3-6 270M P B 3-4 590M K31 3-4-6 2,120
4 220M 4-6 760 B & 3-4 460/
6 190 B 3-4 4401

ABICOVWTRDTEEERROODE. TR LIV,




